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GCSE Mathematics 1IMAO
Formulae: Higher Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

| Volume of prism = area of cross section x length Area of trapezium = % (a+b)h
F? f—a—
,‘J
[ ro'ss ]1
‘ section l—l
1 4 “/vl |— b >|
| L/ longt l I
|
[{ 4 1
| Volume of sphere = —3—7rr3 Volume of cone = gmﬂzh
,‘ Surface area of sphere = 4772 Curved surface area of cone = 77/
I
1‘ &~
R / T
/ A |
} In any triangle ABC The Quadratic Equation

l c The solutions of ax? + bx + ¢ = 0
| where a # 0, are given by

| i a b~ dac)

' . 2a

A = B

u’ Sine Rule —%_ — b = .c
i sind sinB sinC

“\ Cosine Rule &* = b + ¢2— 2bc cos 4
|

‘ Area of triangle = 1 ab sin C
P
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Answer ALL questions.

|
|
Write your answers in the spaces provided. |
You must write down all stages in your working. E‘
The point 4 has coordinates (2, 3). “2
The point B has coordinates (6, 8). |
|
M is the midpoint of the line AB. j
|
Find the coordinates of M. ‘:
B 4 H[
Diagram NOT "1
accurately drawn |
x B(6,8) ji,
‘zi
|
\
x A(2,3) ‘
0 >
%‘%
{
|
Z+6 2+ € t:
2 > |

12 5.5

/

a‘i
. 55
(4 ,5.9)
(Total for Question 1 is 2 marks) f‘
:J}
|
b
|
i
:

O 0 A Tum over ¥



f'“'

2 The table shows the average temperature on each of seven days and the number of units
of gas used to heat a house on these days.

Average temperature (°C) | 0 1 3 9 (10| 12| 13

Units of gas used 200 16 [ 18 [ 10 | 6 6 2

A
24 S 6

22 L [N R S - N

203

18 7><

16

Units 14
of gas i
used 12 am

0 2 4 6 8 10 12 14
Average temperature (°C)

(a) Complete the scatter graph to show the information in the table.
The first 5 points have been plotted for you.

(1)

(b) Describe the relationship between the average temperature and the number of units of
gas used.




(c) Estimate the average temperature on a day when 12 units of gas are used.

Drawd a lius

ok lbesk f& O S G |

(Total for Question 2 is 4 marks)

3 x=04

(x + 1)?
2x

Work out the value of

Write down all the figures on your calculator display.

B i 6
b i \’—I”

(Total for Question 3 is 2 marks) "w
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4 Here is a circle.

Diagram NOT
accurately drawn

The diameter of the circle is 9 cm.

Work out the circumference of this circle.
Give your answer correct to 3 significant figures.

C =Tud

C=Tux4
C = 2@.274 33288

—

(Total for Question 4 is 2 marks)
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(Total for Question S is 2 marks)
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W 6 Sue is driving home from her friend’s house.
! Sue drives

10 miles from her friend’s house to the motorway
240 miles on the motorway
5 miles from the motorway to her home

Sue

takes 20 minutes to drive from her friend’s house to the motorway
drives at an average speed of 60 mph on the motorway
takes 25 minutes to drive from the motorway to her home

Sue stops for a 30 minute rest on her drive home.

Sue leaves her friend’s house at 9.00 am.

o What time does Sue get home?
You must show all your working.

Lam

A0 wilee 20O wins
2™ muiles 60 oW <4 howss )
5 wiles 2 5 MinS

O UL WA - 445
/SQngr =
CER L

Aamn + Bususe \B wing = Z:5pwn

(Total for Question 6 is 3 marks)
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P R / 5
xO
Diagram NOT
accurately drawn
o
T /4 5 & Y
126°
Z
PRS and TWY are parallel straight lines.
ORWZ is a straight line.
Work out the value of x.
Give reasons for your answer.
6 \ "
Q[,Qy =bh&> o> &mg\eg oA A SX’\‘&L&\AS}Y lsus
@
Oéw\ up te IRO".
= ° ase
X > 54%an @ltetw <%jkg@ﬂ2
CQ% L/\.&/‘ )
|
|
}1
(Total for Question 7 is 3 marks) \]
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| 8 Lorna carries out a survey about the number of times customers go to a shop.

She asks at random 100 customers how many times they went to the shop last month.

The table shows Lorna’s results.

| Number of times | 0 1 2 3 4 5 6 | more than 6

Frequency 4 12 (13 |17 |25 |13 |11 |5

One of the 100 customers is chosen at random.

(a) What is the probability that this customer went to the shop 5 or more times?

L S

ESTE S-S

Last month the shop had a total of 1500 customers.

(b) Work out an estimate for the number of customers who went to the shop exactly
2 times last month.

|5OC XP(}_ S
(&0

The owner of a different shop is carrying out a survey on the ages of his customers.
He records the ages of the first 10 customers in his shop after 9 am one morning.

(c) This may not be a suitable sample.
Give two reasons why.

1 Teo qmald o o compe size

(Total for Question 8 is 6 marks)
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|
9 The diagram shows a trapezium. 1

e 2

A B

~ X Diagram NOT |
|

accurately drawn

ite S of (2 |
AD=x cm. |
BC is the same length as AD. |
AB is twice the length of AD. l
DC is 4 cm longer than AB.

The perimeter of the trapezium is 38 cm.

Work out the length of AD. |

P= by |
é:c,—k@’gg !g

& e

(> =34 |

2l =0 ff
x = 573, 52/

(Total for Question 9 is 4 marks) r
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10 (a) Simplify (p?)?

8

| i
() Simplify

23 X 2;1 = 29

(c) Work out the value of .

(1)
2x3 =128
(d) Work out the value of x.
3cF= L4
............. e
(m

(Total for Question 10 is 4 marks)
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11 Here is a plan of Martin’s driveway.

A
Diagram NOT
accurately drawn
4 m
v

\ 4

<= Il m

Martin is going to cover his driveway with gravel.
The gravel will be 6 cm deep.

__-C—’O'OQM

Gravel is sold in bags.
There are 0.4 m® of gravel in each bag.
Each bag of gravel costs £38

Martin gets a discount of 30% oft the cost of the gravel. |

Work out the total amount of money Martin pays for the gravel.

Avea = & L wn®
VEL ueuas - 4l x©-06 = 2.64

o. .64 = ot = 6. b baas
vagwu& 7

22 x0.7=26-60
i, . LB ><7:;/lgg.1@

(Total for Question 11 is 5 marks)
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12 Here are the first five terms of an arithmetic sequence.

4 9 14 ] 24

(a) Find, in terms of n, an expression for the nth term of this sequence.

Here are the first five terms of a different sequence.
2 2 0 —4 -10
An expression for the nth term of this sequence is 37 — n?

(b) Write down, in terms of n, an expression for the nth term of a sequence whose first
five terms are

4 4 0 -8 —20

(Total for Question 12 is 3 marks)
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13 5<y<0
y is an integer.
(a) Write down all the possible values of y.
o
Byt e
@) |
(b) Solve 6(x—2)>15
(e -12>15
T~\2 el
s P
Sl ~ b
4.5 .5
s A 5
(Total for Question 13 is 4 marks)
\
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!; 14 Ali is planning a party.
j

He wants to buy some cakes and some sausage rolls.

The cakes are sold in boxes.
There are 12 cakes in each box.
Each box of cakes costs £2.50

The sausage rolls are sold in packs.
There are 8 sausage rolls in each pack.
Each pack of sausage rolls costs £1.20

Ali wants to buy more than 60 cakes and more than 60 sausage rolls.
He wants to buy exactly the same number of cakes as sausage rolls.

What is the least amount of money Ali will have to pay?

lfz/ 2,_8/ 26 )’DM@AQ—}—@ be over O
Uy 425

(Total for Question 14 is 5 marks)

1

o
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15 The diagram shows the positions of three turbines 4, B and C.
N

A

6 km

b

.
c 45km & B

@F@ogﬁf\-e
A is 6 km due north of turbine B.
C is 4.5 km due west of turbine B. & 2 + ‘:;Z— - C,i

(a) Calculate the distance AC.
TRt Al N T
2025 +3( = AC*
5¢.25= AC*
AC=F5
(b) Calculate the bearing of C from A.

Give your answer correct to the nearest degree.

0 - 4>
4+ a “\’@q/\ (AR Z——

fom (AR = 3.75

CAR = toun (075)
CAR =2¢.864%47L5

o 06 ook

+ 18O =216.869897 6

Diagram NOT
accurately drawn

(Total for Question 15 is 7 marks)
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16 Work out the value of (7.5 x 10%) x (2.5 x 10%)
Give your answer in standard form.

‘ 2 .75 x 0% x10°
@ e e T
| 1. 275 % \0%

(Total for Question 16 is 2 marks)
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f “a
17 |
M ;
v
|
B ]
L
12 cm |
A |
|
Diagram NOT FIE
5cm accurately drawn L]'
ﬂ
D 6 cm C P 9 cm N |
Quadrilaterals ABCD and LMNP are mathematically similar. i
:
Angle 4 = angle L :

Angle B = angle M
Angle C = angle N *
Angle D = angle P 1‘
(a) Work out the length of LP. ‘}
e |
.............................................. cm |
2) Z!
{
(b) Work out the length of BC. J
' f
|5 =[5 = &g ‘
|
1‘[
|
g .
.............................................. cm *’
Aj’_y,} !
|
(Total for Question 17 is 4 marks) ‘
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18 Katie invests £200 in a savings account for 2 years.

The account pays compound interest at an annual rate of
3.3% for the first year
1.5% for the second year

(a) Work out the total amount of money in Katie’s account at the end of 2 years.

200x .03 = 3¢ . (6

206. b % .05 =204. 449

Katie travels to work by train.
The cost of her weekly train ticket increases by 12.5% to £225

Katie’s weekly pay increases by 5% to £535.50

*(b) Compare the increase in the amount of money Katie has to pay for her weekly train
ticket with the increase in her weekly pay.

Train 1ncrese \\ L 57=225 Ve

'S f25 250 1<% = 2
GO (. =$260

j \
| QM fzs.'s@ |®5 /. =535.56 Nees

| -~ \m ./- —
> LT oL 1€ g o S8 3)

—" OJA ’kkl\}. ’(’ (AL V\ i (3 (V\C/"w&%tal for Question 18 is 6 marks)
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19 Here is a cuboid drawn on a 3-D grid.

Ya

4

Diagram NOT

accurately drawn

z

P is a vertex of the cuboid.
T divides the line OP in the ratio 1:2

Find the coordinates of 7.

9 Ly 2 [
4 |
( 2 , /3 ............. L )
(Total for Question 19 is 2 marks) |
|
S
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20 25 students in class A did a science exam.
30 students in class B did the same science exam.

The mean mark for the 25 students in class A is 67.8 E .
The mean mark for all the 55 students is 72.0 ng ‘w class E

Work out the mean mark for the students in class B.

25 x 7. = 16945 +5('0J~£/ de\bsA

A60
_ |&as Pl Bl < el

i
2265

(Total for Question 20 is 3 marks)
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21 (a) Expand and simplify y-2)(y-

|~
31_53 —’2:3 +10

*(b) Prove algebraically that
(2n+ 1)) = (2n+ 1) isaneven number

for all positive integer values of n.

sz\«—DCZw*r Vo= é"‘*’ \>

L™ DA T Y 2w =
Lt +2wn

A @Wl * V\\
Al oxmen numbere asre awu,&n‘p(%él
0 and 2 i’ tha M\A’rip\ﬁar

3

(Total for Question 21 is S marks)

LS\M’V\ 2y Q)CP(‘\Qgg‘\@V\ < gx\w(?\fﬁ‘eak
3)

J
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*22 Shabeen has a biased coin.

The probability that the coin will land on heads is 0.6 3.4 Al \<

Shabeen is going to throw the coin 3 times.
She says the probability that the coin will land on tails 3 times is less than 0.1

Is Shabeen correct?
You must show all your working.

O .4 0.4 xO0.4= O.0Lu

O .06U 72 less thauwo! <a

8 \/\o&msz,v\ < co@rec} .

(Total for Question 22 is 3 marks)
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23 (a) Explain what is meant by a stratified sample.

The table shows information about the ages of the people living in a village.

Age group Number of people

Under 21 72 |
21-40 90 |
41-60 123 ‘
Over 60 314 L
—
Mrs Parrish carries out a survey of these people. 54 e‘ ﬂ‘
She uses a sample size of 50 people stratified by age group. i
(b) Work out the number of people over 60 years of age in the sample. }
Sk |
» BO= L. Zl@’iS...i&’
594
i
||
............... /%é ?‘
{“)‘ cg
{
(Total for Question 23 is 3 marks)
si
1
|
|
i
51
{
ra
|
|
|
_
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? 24 p is inversely proportional to 7.
Whent=4,p=12

Find the value of p when =6

P‘:-

|-

N
oQ
\)
|

(Total for Question 24 is 3 marks)
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25 The diagram shows a solid made from a hemisphere and a cone.

T voluama =201 .5928448

1
Diagram NOT
accurately drawn

v
The radius of the hemisphere is 4 cm.

The radius of the base of the cone is 4 cm.

Calculate the volume of the solid.
Give your gnswer correct to_3 significant figures.

Uge vvouo\ €L\mfr ‘

\l

2
=\l pBS 8L |

...... CEo

(Total for Question 25 is 3 marks) |

|
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26 Solve the equations

x2+3y? =36
x=2y+6

CZ@*QBZ +:32'=ZL
(Z:S«f e>(ltyr(a> ’féi =36
eofr 2 2y ¥ 3L = <L

2L Bk
5424 26y= 0O
ou° * 24y

20

-5
Z = —2 ¢ ¥ {242 4x <0

m—

- 2xg q
=z = —24—\—{'5?‘; ¥ = -24-155¢
sl o \& >
= O P :(_T—ZK\j-\'L:
—~ =2¥-4.8¥6
‘x’?.—"g ..... '(:: ...........................................

(Total for Question 26 is S marks)
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27 ABCD is a parallelogram.

Diagram NOT
accurately drawn

AC=9 cm
DC=11cm
Angle DAC =100°

Calculate the area of the parallelogram.
Give your answer correct to 3 significant figures.

a &

JA WD
1\ a

Ciw 10O - giwD

SiuD = 48iwl6C
A\
8 =8 . ga51s . - .

D= i (M\

AcD= 10 -\00 ~D=726(.317--

Area = Q x@H5x% |l x4 x gw?2 6207 - |

p= . B i
TR i

(Total for Question 27 is 5 marks)

TOTAL FOR PAPER IS 100 MARKS
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